

14.12.2004



, 
$$R = f(U, t).$$

1

-,

\_

\_ -

> \_ -

\_ \_

.

$$= R + R \qquad I \qquad R = R + R \qquad -$$

$$N_{Z()}, R_{-}$$

. 
$$( E_1, R_1, C_1) -$$

, 
$$I = f(II)$$
 .

$$I = f(U),$$

$$I ,$$

$$R$$

[1].

Ν

$$U_{i}(U_{i}, dU/dt) , -$$

$$U_{j}(U_{i})i = 1...m, \quad j = 1...n.$$

44

•

 $E_i$ .

.

 $, I_{j}$ 



$$U_{i}, U_{j}, U.$$

.

, 
$$au_j = R_j C_{j},$$
  $R_j = ext{const}; \ C_{j} = ext{var}.$ 

,

45

\_

\_

\_

\_

$$: U_{-1}(A_{11}d^{2}/dt^{2} + A_{21}d/dt + 1) = U_{-1}(B_{11}d^{2}/d^{2}t + B_{21}d/dt + 1) - U_{-1};$$
(1)  

$$U_{-n}(A_{1n}d^{2}/dt^{2} + A_{2n}d/dt + 1) = U_{-n}(B_{1n}d^{2}/d^{2}t + B_{2n}d/dt + 1) - U_{-n}.$$

$$: \int_{U_{-n}}^{R_{1}} \int_{U_{-1}}^{R_{2}} \int_{U_{-1}}^{R_{2}} \int_{U_{-1}}^{U_{-1}} \int_{U_{-1}}^{U_$$

,

$$B_{2n} = \tau + \tau ; \tau = r ( _{j0} + \tau _N \lambda I ); \tau = R ; \lambda = 1/\phi .$$
  

$$\phi /I = r ; R_1 = R + R ( /C_{jc}) -$$
  
; , , R , - , ,

$$A_{1n}, A_{2n}, B_{1n}, B_{2n}$$

:  
1) 
$$I_0 = \text{const}; U_{0n} = \text{const};$$
  
2) ;  
3)  $U = \phi \ln I / I_0 + ir$ .

,

[2]:

$$U_{i} = (U_{.i} - U_{0n} + d/dtC_{1}R_{2}(U_{ki} - U_{n}))/(1 + g_{1i} + g_{2i});$$

$$g_{1i} = (R_{i} + R_{1}/\beta + 1)g_{3i};$$

$$g_{2i} = R_{2}C_{1}(1 + g_{1i}) + (R_{1} + R_{2})(C_{jc} + \tau_{N}\lambda g_{3i});$$
(2)

,

$$g_{3i} = I_0 \exp \lambda U_{\text{BB}i} / (1 + \sum \exp \lambda U_i) (1 + \exp \lambda U_i),$$

$$U_{.i} - i - m$$
;  
 $R_2 = R / _{JC}; _{JC} - -$ 

.

٠

•

 $U_i$ 

$$I_{\rm Ki} = I_0 - I_{\rm K}$$
; (3)

$$I = I_0 / (1 + \sum \exp \lambda U_i).$$
 (4)

:

 $U (1 + C U dI_0/dt) = U / I_0 (I - C_1 U d/dt);$ (5)

$$U_{i}(1 + C U d/I_{0}dt) = U /I_{0}(I + C_{1}d(U_{i} - U_{ki})/dt).$$
(6)
(2)...(6)
.2,
.3.

(2)...(6),



 1.

 ,

 ,

 ,

 2.
 ,

47



1.07.2002

,

,

## 621.311

· · , · · · ., · · · ., · · · ·

,



, . ,

6–10 : ;

• ; • .

. 48